Lesson 231 Twdef n!lﬁg.iﬂfL&gcrg&ﬁQ_n_ S

|When we infegrate o Punchon we add "+C*
Pov* H’le Wa/ solu{—wﬂ ]:P u_)& i %&/em -

8 doto point Por the curve, we. caon'solve

or C/_ and  Pinel  Lthe par%cu(&r solution.

Ex | Given the inihal value Dr‘oélem (TVP) § V = =

[

| Find_y(e?),

. SMC,Q ‘\/ =] 171 —#—f-u-jl \!1 Q_(X :___S'_])_(__&X i ’ﬂlg.‘t_ce_ P
f s .

Now we. con use. He data point A

gy =lnlfl « C =2

SN b

BT T

[Then the. particular solufion s y =Inlxl+2.

Finally, we can hd y(ed=|nlel +d ol
0 = Zlnlel *2 -
LN = 8 + 4l = |5
_«mgova Be TVPC N"= x-2 . - e
S — Y (O) =3 i

] T

|First, we need fo fnd ' - y = $ylox = Flx-ydx
o v =xx2-ax+C
Use dafa pomf \; O EEE Y YN N0 =50*-20+(=3

***** C=3

N‘?Jd‘ Qﬂd \f Y“g\/o“: § (ax - Ax +_7>)d‘k><

=5 x*-23X 5}+5>< AOR S S N
(/(66‘, dmLo\ Pomf‘ y(ﬂ =0 “}'0 QMO(C, NGE :],, 2+C = O

E+C=0

= E; EX - X = + gx _ng N __<:: : C) N —___. ==




- E—}_:ﬁ Solve the TVP S y'= sin®- 2
C\/(Tr)—
N = S\l dx = SC&IV\(XB Ll =—2as( ) — dx +C
y(§)=*cos( I ohEE Y -
. -+ - &a&r L C =1
s C:I [—14—_%1'“:%4_.25
V= -—cos(x)-Ax + 5+ &
Ext Solve. the TP ( y"=e* +dx
a0 = ]
Ly =-T
- v'i= §ytdx = § (e ) dx = +oy C.
yi=e"'+ 18+ C =1 reta
I R e  constant
.- @ = y'=p"+ Xa:&
J=Tyidr= e e yi-e)dx =¥+ 5 xB -2y +{
S yiod= e+ 20%*-e - 0+C =-17
TTEp o wEe
o £y == &
\y=e"+ g x*-a xR
] == —
Ed-_-_éﬂ/\e, v‘a“'e, o-p qz(‘ole %Ti‘ owc H/Le, U.W‘CU.“’L\ popl ((H{-fou

s _pro porﬁonaf fo the square £ aidh o

OOV\S{‘OW\JV coePleient oF % whewe T 1z Hwie

doys (0 £< 20). The inihal populafion s

1000. Findd He popu(m[’t‘om awow ol Aagﬁ‘.

%% 'S propor*ﬁovmf ln 31 % <5 dff - 28

= 0. Jt=02t3Jt = £2+(

ﬂqe, Ml)[’fa( POPM(CLHOVI s 1000, so P(O): 10c0.

PY= 62+(. =1000 = ={000.




S P = 31000 P(ay= ¢
P()= 2%+ 1000 =

V&Y‘%CA”\{ u)l‘H/l o \/QIOCNL\/ Dp LIL 3 m/j _ /[e,\/_grop
grapes Qom Hhe talloon when i+ is 54 U opq

o bove e ound. Use alt)= -9, 8 wm/ Q;r
acceleration due o %raVJW
(o) After how many “seconds w;l( the grape Wit He C)\.-Y‘O[mc(f

QQCQH o= \/‘: =W e

’Iaa grape It 1L5 Hhe ground whep s(d) = O .

25 e Vt,g,g,d o =olve” ‘H/LL TVP gﬁ”b‘:} aU:B-fﬂ ED _
5'(O=vO=Y4.3
e EkEITR S

_E__&é Shawn and ju{és e _|'_m a Mot air éa”oom r1s1A

((/{se;t O to r&m‘cﬁ@ﬂf“ Ma 7"’”/‘46, ot
Hie grrape 'S dropped)

s = (s'dt= §-9.8dt = -9.8t +C
s(o)y=0+C = Q%ﬁé(tﬁ“”q8t+ﬁ1’3

s(t) =0s'dt = £(-98¢ +4.2)Jt=-UAt3+ 4.3t +C
s(O)=0+0+C =241, 4

<(t)=-4.9+%+ 4. 5t+3w LN

L= =43 *J‘Lﬁ)i] q‘;}(HQXCBW Gy = R %O _7 q;z
(£ =128.80¢  Tnegabive hme
(Z’J) (/J\/lcd’ (S Hrs V&]OCH‘\/ ())](Lw 14- \/\[7% % CA/FOUVLOE?
(Use * Q‘O\M part (2).) e

V(t)—SC%SH—q 8154-4 EA
(2,800 = —9.8 (R .30> + 4.3 =[- 31, 9% wm/s)|




